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INSTRUCTIONS

1. The Question Paper contains 150 questions. (Part-A) 1 to 75 questions relate to General Studies and
Mental Ability and (Part-B) 76 to 150 questions relate to General Science and General Mathematics.
Each question carries 1 mark. For each wrong answer 1/3' mark will be deducted.

2. Please check the Question Paper and ensure that it contains all the questions. If you find any
defect in the Question Paper or OMR Answer Sheet, please get it replaced immediately. The
OMR Answer Sheet is in duplicate. Do not separate the copies. The markings on the first page
will automatically come on the second copy also. The first copy (Original) will be retained for
evaluation and the second copy (Duplicate) can be taken by the candidate.
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3. Write your Registered Number on the top of the Question Paper. On the right hand corner of
the first page, the Question Paper Series is printed as @ or or © or @ On the OMR
Answer Sheet, Side-1 at the right top corner at Part C, the Question Paper Series is printed as
@ @ @ Darken the appropriate circle, as per your Question Paper Series with
Blue/Black Ball point pen. Gel pens/pencils are not allowed.

Example to fill up the Question Paper Series on the OMR Answer Sheet
If your Question Paper Series is A, please fill as shown below :

L_NONCN®)

If you have not marked the Question Paper Series on the OMR Answer Sheet, Side-1 at Part C
with blue/black ball point pen, or marked in a way that it leads to discrepancy in determining
the exact Question Paper Series, then your Answer Sheet will be invalidated without any
Jurther notice. No correspondence will be entertained in the matter.

4. Please get the signature of the Invigilator affixed in the space provided at the top of the
OMR Answer Sheet. An OMR Answer Sheet without the signature of the Invigilator will be
invalidated.

5. The Question Paper is set in English and translated into Telugu language. The English version
will be considered as the authentic version for valuation purpose.

6. Each question is followed by 4 answer choices. Of these, you have to carefully select one correct
answer and mark it on the OMR Answer Sheet by completely darkening the appropriate circle
for the question. If more than one circle is darkened, the answer will not be valued at all. Use
Blue or Black Ball point pen to make thick mark to fill the circle completely. Make no other
stains or marks. Using Whitener/Blade/Eraser/Chalk Powder anywhere on the OMR Answer
Sheet or any kind of tampering to change the answers on OMR Answer Sheet will lead to
invalidation of the entire OMR Answer Sheet.

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :

O @@

7. Do not fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet. Otherwise your OMR Answer Sheet will be invalidated.

8. Do not mark answer choices on the Question Paper. Violation of this will be viewed
seriously.

9. Any type of Electronic Devices such as Calculators, Mathematical/Log Tables, Mobile Phones,
Bluetooth instruments etc., should not be brought into the Examination Hall. If found in
possession of such devices, it will be considered as cheating and strict action taken.

10. As per G.O. Ms. No. 385, GA (Ser.A) Dept., dt: 18/10/2016, if any candidate attempts to use
any means to cheat/copy etc., he/she is liable for prosecution (Police Case) and debarment.

11. Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2% Hours. No
candidate shall be allowed to leave the Hall in the middle of the examination under any
circumstances.

12. Before leaving the examination hall, the candidate should hand over the OMR Answer Sheet
top sheet (Original) to the Invigilator and carry the bottom sheet (Duplicate) for his/her record.
Carrying away Original OMR Answer Sheet will be a criminal offence.
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PART -A
GENERAL STUDIES AND MENTAL ABILITY

Sxdam

. What is the name of the first private Indian rocket launched in 20227 Bl

(1) Vikram-S (2) Agni-V (3) RLV-TD (4) SSLV-DI1

2022 & HBTRoEES Baocsed 2365 ePEDAL 07365 D80 dAoe3 92
(1) IES-R (2) ©fy-2 (3) 85D-e3¢% (4) ARIRISD-E1

. Who is the current DRDO, Chairman/Secretary of the Department of Defence R&D ?

(1) Dr. G. Satheesh Reddy (2) Dr. Samir V. Kamat

(3) Dr. Tessy Thomas (4) Dr. AP Adnt Reaay

(@S 55&5, DRDO/&%¢e? 7°9 R&D §_°C5§(5@% 280 ? q;i'%

(1) @56 2. %BA3SG (2) g6 56 . RS
—

(3) @56 By TR (4) =55 . 2. ©0 TG

. When was the Digital India Mission launched ?
(1) 2005 (2) 2015 (3) 2010 (4) 2020
&e2e0S 3oGATT Qo Iyt @FEoBoscod 2
(1) 2005 (2) 2015 (3) 2010 (4) 2020

. Which Indian agency is responsible for Cyber Security ?
(1) RAW (2) CERT-In (3) ISRO (4) NITI Aayog

20006 BB O OO VoK &S S°8300
) o (2) 23e30-3% 3) 3R* (4) D esBrh

. Which Indian nuclear reactor is used for research purposes ?
(1) Kaiga (2) Kudankulam (3) Dhruva (4) Narora

$08°% PAresre 850 O grEHo e doITEES GIATATS 2
(1) (2) Sx¢o%so (3) &% (4) 8o

0
gﬁ e

. By which year has India pledged to achieve net-zero carbon emissions ?
(1) 2040 (2) 2050 (3) 2060 (4) 2070

D o0 T7e38 PS8BT DEG-HT) TGS GITOS> PRoBESE (e 3008 9
(1) 2040 (2) 2050 (3) 2060 @) 2070
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7. Which of the following is an example of ex-situ conservation ?

; B!
(1) National parks (2) Wildlife sanctuaries ;E};z%
prm— . : [®]®
(3) Botanical gardens (4) Biosphere reserves

808 T8 Py SOUEED &ERTSEd 8 2
(1) erdaH amrgdTren (2) SBgRrene LTSy
(3) erdsS m3oeo (4) @TaHd desbsen

8. Which is India’s first national park ?
(1) Kaziranga National Park

(2) Jim Corbett National W'
(3) Sundarbans National IW
(4) Periyar National Park

EBEOS F0063RB00e5e3 e B GTTERPHH0 IO 2
(1) sed50K erdah Grrgddso

2) B SO0 POOD GOTFIPR0
(3) Bootsberdy erda errgEo ORy
(4) 28058 erHOKH &IrgPNHo ]

9. The CITES (Convention on International Trade in Endangered Species) regulates

(1) Industrial waste

' (2) Trade in endangered species
—— -

(3) Wildlife tourism

(4) Agricultural products

CITES (08800308, er8508° eosgdab Tredesso 2 $7390) 263D AAbo@i00.
(1) TOEPAE JgTeo

(2) @080 ereed Fgrso
(3) SgEree Sogeso

(4) S5PTAL eEioed e

10. How many schedules are there in the Wildlife Protection Act, 1972 7
(1) 4 () 5 3) 6 4 7
Sgeree SEEs B560, 1972 & Ay wETgSen &m0 2
(1) 4 (2) 5 3) 6 4) 7

5 A)



11. The most common method of solid waste disposal in India is

(1) Incineration

(3) Recycling

PS8BS’ 505 SgTOR0 TEI00¢50% DABPACD WS FTe ale

) @505 33@05 '

(1) 2§§c\)&§6€30
(3) 5:@%05

(2) Land filling

(4) Composting

(4) SoFQoh

12. A sanitary landfill is different from an open dump because

(1) It does not require land

(2) Ituses a liner system to prevent groundwater contamination

(3) It burns waste

(4) It is used only for plastic waste

T80 ers0&nS 28 EoD TPy DO &0e208 JotoEods
) g A

(1) 828 g7 95380 8o

) GoiGye ooty WODSERE 90 ORb SySio SRCITARED

3) 30 355%"@5& 953@0&

(4) 30 T8 H5To o SIBR> &¥BTrRoE0

GS/OBAF/500

13. The Solid Waste Management Rules, 2016, replaced which earlier set of rules ?

(1) Municipal Solid Waste Rules, 2000

(2) Hazardous Waste Rules, 2010
(3) Plastic Waste Rules, 2011
(4) Biomedical Waste Rules, 1998

PO FgT ATgEIEd AoKTen, 2016, 50080563 D ADLITOD 25O B0 9

(1) 520296 505 95c0 Dok, 2000

(2) ESEES S5re 0H5Te3, 2010
(3) IS 5o dawsres, 2011

(4) ©BTRAES Sgore AT, 1998

=l e
|

A)
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14. Extended Producer Responsibility (EPR) makes manufacturers responsible for
(1) Transporting waste

(2) Collection and recycling of their products after use
(3) Only producing biodegradable plastics
(4) Burning plastic waste

DR YIDODS EresTsd ByR8e3 (EPR) Scirborthoso Be38 ergsBons 300 9
(1) ssgoso Soe a0

(2) ESEBTHO S0 B oo EBOBE H0ao §p8oh Babiko
(3) BATERE0S THEoM0 SrE> &G Dabéo

(4) T SyTess oo

15. The Swachh Bharat Mission (SBM) was launched in

(1) 2012 (2) 2014 (3) 2016 (4) 2018
555) a6 D098 (SBM) &6 300 2058508 ("GoRosntod.
(1) 2012 (2) 2014 (3) 2016 (4) 2018
16. The largest e-waste producing city in India is
(1) Mumbai (2) Bengaluru
(3) Delhi (4) Chennai
e ES5B508" BE Si-S5Tos &Sy B o
L (1) 50008 (2) BorETEd
(3) & 4) 33
Bvm
17. The concept of a circular economy in waste management promotes 5]

(1) Using products until they break

(2) Minimizing waste by reusing and recycling materials
(3) Sending all waste to landfills

(4) Banning new product manufacturing

355 Dorare grerd” HTES Q8 F55Y @ g Ded P00
@ @ -2 ® @

(1) &S baﬁmdﬁog 8% &BAPAoBE

(2) Sorcpess BOR esarAoito 20000 BoIon Sooto By0 S 0% Sroaeo. |

(3) &y :)éo;@:éa DD @°o€§°©§ OO

(4) T eaSdo HoIPOD Voo

A)



18. India’s first waste-to-energy plant was established in which city ?
(1) Delhi (2) Mumbai
(3) Hyderabad (4) Bengaluru
BTOBBE0S" 300433000563 Bype S0 ¥ oes O $K508’ Fhosdod 9
(1) &9 , (2) %008
3) TEoers (4) BorETss
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19. The Integrated Pest Management (IPM) approach focuses on
(1) Use of only chemical pesticides
(2) Eliminating all pests
(3) Combination of biological, cultural, and mechanical methods for pest control
(4) Increasing pesticide resistance in crops
R0e3REEE 2 3035005 (IPM) Dgrido &s 808 Te3&° 363D G808 9
(1) SAR DB TEEC SI°ESR0
(2) &) 3FHSo Selosce
(3) Brben atoes 55086, o) yBE SodA%H CITFoGs Al ARG
(4) SOB08: DTS00 D6 CESDs oSG
20. As per India’s SDG Index 2023, which state ranks highest in SDG implementation ?
(1) Bihar [75) Kerala
(3) Uttar Pradesh (4) Madhya lmc‘sh
g6883% SDG 505 2023 [$55°50, SDG esoeos® PO SR8 508’ &od 2
(1) 8 (2) S5
(3) &8s ©as (4) So¢sas
21. Which of the following is not produced from silk worm ?
(1) Sabra Silk (2) Eri Silk
(3) Muga Silk (4) Kosa Silk
808 TS He IS &8 Sands D8 9
| (D e 56 | (2) 20 Bex
(3) Soorr ex (4) § veay
8

(A)
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22. The Central AGMARK Laboratory is located in E];'EE
(1) Faridabad (2) Nagpur [g{;tﬁ?
(3) Amaravati (4) Hyderabad
doead ey orled & Sodso.
(1) Hbcrerd (2) K36
(3) @00 4) §_5°<50°?J°<5
23. Which of the following tribes is not a hunting tribe in India ? %%;%
(1) Chenchu of Andhra Pradesh (2) Meena of Rajasthan
(3) Kamar of Madhya Pradesh (4) Irula of Tamil Nadu and Kerala
ePESBHOSD B (308 BKeS’, ¢ B 7O B 2
(1) e30GRAES’ Jod ) U’&@;Séﬁ D e
(3) SRS 8506 (4) STTeE 508050 TFED oY
24. Which city is not a part of Golden Quadrilateral ?
(1) Hyderabad (2) Mumbai
(3) Chennai (4) New Delhi
78S sy GBS’ griisn SR SEe 28 2
(1) voowd (2) 52008
3) 3 (4) 37568
25. The primary cotton research center in Andhra Pradesh is located at §E%
(1) Nandyal (2) Guntur N
(3) Kadapa (4) Visakhapatnam
SOSHBEE’D ErEE $O B8 ¢S Boso 5080 Sodso.
(1) Sorge (2) Kootarto
(3) -8&s (4) JPHeno

9 (A)
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26. Annamayya district is carved from parts of erstwhile

27

28.

29,

(1) Chittoor, Nellore
(2) Nellore, YSR Kadapa

(3) YSR Kadapa, Chittoor

(4) Anantapuramu, Kurnool

@5&;330535 &qq" ?Q)"’Cﬁog@
(1) DS, JoTo
(2) Sorsd, 3Desb 56

Vleleveh

(3) Dovwb S5, DBTCo

(4) ©S50EHT0, S8 o0

Scientific name of Red Sandalwood is

(1) Pterocarpus indicus

(3) Pterocarpus santalinus’

BB @ook) FRA TH0B0
(1) e38°s5\% 50a5D

(3) 85530%5 SoeTdSD

Visakhapatnam Port is protected from sea waves and cyclones by the

(1) Rushikonda (2) Dolphin’s Nose

(3) Kailasagiri Hills

(1) sasefon

(3) SN Socten

BT gPIPY 5006 JSEoR.

(2) Santalum album

(4) Santalum indicus

(2) Foereo eseywd

(4) BoLreo R30G5

(4) Yarada Hills
DT TR DB o0 S00AKe BoFrs0 &°8E K00 POSERN) STRETHN0

(2) <:;°§)95(3 SR

(4) aroees Soien

Sri Kalahasthi temple is located on the banks of

(1) Nagavali
(3) Vamshadhara

Bl 108
(1) oS
(3) So¥ees

5885085 Solso.

(2) Gowthami

(4) Swarnamukhi

(2) RS

(4) g9

GS/OBAF/500
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30. “Krishna Sastri’s pain is the pain of the world; the pain of the world is Sri Sri’s pain”, B
who said these words about Sri Sri ? ‘;ﬁc:ﬁz
(1) Devulapalli Krishna Sastri (2) Viswanadha Satyanarayana
(3) Nanduri Rammohan Rao (4) Gudipati Venkata Chalam
“GRTR BT BP0TRE &g, (30D @ BB e ed 3,8 00D 90 25 ¢
(1) Bosd HATY (2) DT BT AED
(3) Sotrd TR T (4) KoGIred Jogersoo

31. Who was the natlonallst poet to use the word Tenugutalli for the first time in Telugu nationalist

32.

writings ?

(1) Rayaprolu Subbarao

(2) Viswanadha Satyanarayana

(3) Gurram Jashua

(4) Kodali Venkata Ratnam

‘BINOSY’ &S STy BSITOT BeorH BALTE SIS EIBTAOD eSA EI K0 ?

(1) coHEPes 802707 %g’ﬁl

o

(2) DETE BT T ONED =] i
(3) B0 e
(4) O 05 8o

On December 17, 1917, a delegation of 21 representatives met with Montague to request for
forming a separate state for Andhra from the Madras Presidency. Who led this delegation ?

(1) Kasinadhuni Nageswara Rao

(2) Nyapati Subbarao

(3) Konda Venkatappayya

(4) Gadicherla Harisarvottama Rao

1917 &20ex5s 17 & S0 @HREy 500D @0 HEE Tl o760 Daired S 21 $00d
2OV enotso 57085R50 SOUEH. S (HOVY eorrdd T ADLES0 $2r008 IHDES ?

(1) SRER TRIECD =

EYE
= U

C!w.

2) 3"55)@ KDEJ‘;)O“?Q)

(3) Som 085w

(4) EDE HPORE (BRCTD
1 Gy
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34.

A8,
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When did Potti Sriramulu lose his life while doing fast unto death for the forming of separate state

for Andhra ? E}ﬁfiﬁ
(1) December 14, 1952 (2) December 15, 1952 ]
(3) December 16, 1952 (4) December 17, 1952

BSOS PB5E 07 omyen 5786 es808er AT B B Jed Borsaoen Iyis @Freres
FE AT 2

(1) &owb 14, 1952 (2) &owb 15, 1952
(3) &owb 16, 1952 (4) &ob 17, 1952

Which of the following statements related to ‘Visalandhra Mahasabha’ is incorrect ?
(1) It was established in November 1949
(2) It was established by Ayyadevara Kaleswara Rao

(3) It was established at Hyderabad

&
1[x]

EAE
£

(4) Its first meeting was held at Warangal in 1950
‘DSOS SoTEET K $008o 08 T3S K658 DB 9
(1) & 585 1949 350608 FFhosadiod

(2) B 5 SAOBIE SVHBORD FLOTE

(3) 5108 TEOTES o0

(4) &5 g FO 15359%0 1950 &° $550K5S° 28RO

Which of the following is not one of the reasons for the beginning of Telangana Movement in 1969 ?

(1) Failure in the proper implementation of Gentlemen Agreement after the formation of
Andhra Pradesh

(2) Assumption that the Andhras were exploiting the resources and the surplus income of
Telangana

(3) Assumption that the competition from Andhra in employment opportunities was leading to
unemployment amon g the Telangana youth

(4) AP High Court’s verdict that the Mulki Rules are not applicable after the formation of
Andhra Pradesh o

:_"3
1969 & Boorres &S50 (oo SEES & 308 T3S’ SO0 6 D8 9 =2 1k

iy
(1) SoEEBE AYES S0 8 55080500 2500 HESOT e300 Sabied® Iseso
(2) Boorrer 556080 5500 AoKOe ESEPONHS SO & S050080TNER g5
(3) &B§f w5708 eol S9od el Boore AsBE DSETTIL TOSNFolsS erss
(4) SOEEDE A)ES SomS 5209, Devosdes $GossR OB T8 3Dy Sy
12 (A)
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36. Who said that Directive Principles of the State Policy was “New Magna Carta” ? EIE
(1) M. Y. Pylee (2) M. K. Gandhi G
(3) B.R. Ambedkar (4) D.D. Basu
ORTS P BrEren “EF Sy G e I8 ey 2
(1) J0.3.29 (2) do.3. wod
(3) 8. &0, @0l @) &. & e

37. In which year, was the Child Labour Prohibition and Regulation Act made ?

(1) 1987

2o B DGO 000k Ao Ge He0 3

(1) 1987

(2) 1985

(2) 1985

(3) 1986

BosS 508" Babedod
p—
(3) 1986

()

38. Which article deals with ‘Universal Franchise’ in the Constitution ?

(1) Article 325

(3) Article 326

(2) Article 320
(4) Article 324

oresorios” ‘FEyDE Len T, H80D I eSS0 BupBE0E ?

(1) 550 325

(3) «QsSe0 326

(2) 550 320
(4) Q550 324

(4) 1984

(4) 1984
g
Bl

39. Though he/she is not a Member of Parliament of India, but he/she is an integral part of Indian

Parliament — Who ?

(1) Prime Minister

(3) President

(2) Lok Sabha Speaker
(4) Deputy Speaker

550, @ OB TG00t Keosths SH%es, o/ grE8 TR0t @oBTyfio - IO ?

(1) e 0@

(3) oo

(2) &Exsey s
(4) &5ed oys6

40. Who has the power to create new All India Services in India ?

(1) Lok Sabha
(3) President

(2) Prime Minister

(4) Rajya Sabha

TE5BH08" B8 eo grES PORERO HReS RSO IH0S &0d 2

(1) &°&xey
(3) oD

(2) BEs So®

(4) Cesgoe

13

A)
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41. Which Supreme Court Judge introduced Public Interest Litigation (PIL) ? [EIE
(1) P.N. Bhagwati (2) D. Y. Chandra Chud i
(3) H.J. Kania (4) S. H. Kapadia
(98 (5A3T°3ed ?;wwlL) Q @3%33%&3 éa@oogség TPFOEOB0T0 DJEL ?
(1) 2. . I8 (2) & 3. Sogsuré
(3) o, 8. oS> (4) dR. S, ErSalr

42. The first Indian State which established Lokayukta in 1971
(1) Rajasthan (2) Andhra Pradesh

' (3) Maharashtra (4) Karnataka e

1971 6" &' ai0ES0 L2008 Boacsed grEab oo D8 2 Eﬁ
(1) oesars (2) esoBRHRE
(3) SoSfory (4) sopeos

43. Which was the Commission/Committee appointed to study the Fundamental Duties in 1999 ?

(1) Varma Committee (2) M. M. Punchi Commission

(3) Kajamannar Committee (4) Sardar Swaran Singh Committee
1999 &° Sresus oo esaso S D K58 /5206 Daboosedod ?

(1) 56 52063 (2) 0. Jo. FPod) EWRS

(3) CsoT S0y (4) 358 358 ok 2063

44. Which is the best measure of a country’s economic growth ?
(1) GNP (2) PCI (3) NNP (4) GDP
28 OF 508 5,00 Fo3ed8 &8s SFosrso D8 9

(1) Bro 2rda3reyd |(2) sexd soavo () AL AITHY (4 Ao B8ETHS

45. In India the liberal industrial policy was adopted in the year

(1) 1948 (2) 1991 (3) 1956 (4) 1985
PPOSBHE’ &TEE FOFWE Ty FE50DoDS BOSEBo B 2
(1) 1948 (2) 1991 ﬁ (3) 1956 (4) 1985

46. Open Market operations of RBI are sales and purchases of

(1) Foreign currency . (2) Trade bills
(3) Government securities

(4) Corporate securities

[
o e
RBI 828 3G OSSO EDES O 2305700 JoBaw B8R % 2 Gl
(1) 233 539y (2) Sredesg Deen
(3) 80 2E5Be3en (4) 635 2850eSe0
14 (A)
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47. Devaluation of rupee in India was first introduced in the year

(1) 1949 2) 1966

(3) 1972

GS/OBAF/500

(4) 1990

EFESBH0S’ BT 000 SIEE Dok BRODO JoEe3T O (FIF0eIS SoIS o A0 2

(1) 1949 (2) 1966

48. During a period of inflation prices should
' (1) Increase
) Constant

B sener S°008° §So0 IO Lo ?
(1) BE0SE
(3) DosG

(3) 1972

(2) Decrease
(4) Fluctuate

2) S0
(4) ESBIHeo

49. Which committee was constituted for reforms in tax structure ?

(1) Narasimham Committee

(1) 5520570 2063
() Sgowy Saoes

(3) Chelliah Committee
950© 33535?\3; éoéps@;ej R0 D073 K063 08 9

(2) Gadgil Committee
(4) Kelkar Committee

(2) ™&S 8d0ed
(4) o6 52003

50. In which part of the Indian Constitution can GST be found ?

(1) 12 A of Article 366
(3) 12 A of Article 364
BTES CePsold D grriod” BN WIS 2
(1) 056 366 Bog 12 A
(3) 055 364 B0 12A

(2) 12 A of Article 365
(4) None

(4) 1990

(2) 5056 365 By, 12 A

(4) D8 =

51. Financial Responsibility and Budget Management Act was introduced in the year

(1) 2000 (2) 2001

(3) 2003

(4) 2005

Q008 500 @0& e Foddaos e D $o5E 508" T 2

(1) 2000 (2) 2001

(3) 2003

(4) 2005

52. The Balance of Payments account records the inflow of foreign exchange on the

(1) Debit side
(3) Both (1) and (2)

(2) Credit side
(4) None of the above

er5B5y e HBo0eSy grar BB STE (5355 @OBFIR (S5 I S2TCH Bxgod 2

(1) 853D
(3) (1) $580%0 (2) Boss

(2) B&eS D
(4) 2738 A =D
15
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53. The portfolio investment by foreign institutional investors is called %3;%
(1) FII (2) FDI (<o
DR | (4) FEMA
DBB DORLHES DepeGErte FPEIOD® 2endd V50D HeoFEd ?
(1) DBB SoTHS Veyedorcon | (2) DB g e
() B35S Go000h e (4) DBB 570 Asges S0

54. Blue Revolution is related with
(1) Fish (2) Oil Seeds (3) Milk (4) Mutton
29 D50 B $020HOVSE 2

(1) e (2) 373 Aomew (3) rew 4) Srodo
. EE
55. M. S. Swaminathan was known as ﬁf %
(1) Father of White Revolution -

(2) Father of Green Revolution
gmink Revolution

(4) Father of Purple Revolution
M. 8. QoGS 3T° (@Drisodso FPodmsd
mé DD DTEBEE
(2) 3B IPS BRI
(3) Koerd) DB DTSRRI

(4) &0° IV DTROTVE

56. The percentage of agricultural land is very high in all the following states except
{ (D) Sikkim }  (2) Haryana (3) Punjab

(4) Uttar Pradesh
& 800 &) el BSrah 4 TS0 T°e0 FOPIT &0, ¥ Tes” dy

(1) 2390 (2) Tog (3) Soexes (4) &85 RS
57. Which is the bi
(1) Railways

, : =[]
est enterprise of the Government of India ? %?ﬁ}

(2) Postal and Telegraphs
(4) Shipping
GOS8 (28058 DoAY ©BBE HgbSCoN NCSRVARY

Banking

(1) 3o (2) QS 0800 BOFTHen
(3) ergo8oh (4) 2R

16 (A)
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58. The Wildlife Crime Control Bureau (WCCB) in India was established in g‘};;@
(1) 1992 (2) 2003 E
(3) 2007 (4) 2015
£r553508° 36 85 350 So'é arsS (WCCB) & Eob $058)07ed” hotindod
(1) 1992 (2) 2003
(3) 2007 (4) 2015

59. Which National Park is famous for the conservation of the Indian rhinoceros ?
(1) Gir National Park
(2) Bandipur National Park

(3) Kaziranga National Park

(4) Sundarbans National Park
gD PEBYTO SoUEED (NG JoOY erdak GrrgSsso B9 (Bl
(1) A6 7§,

(2) 208578 J55S T8,

(3) Sd0ok 3use o, )

4) ﬁ)OCSCZ)cSQ D556 3@51:

60. The Government-led initiative in India that provides a secure online platform to store and share

digital documents is

(1) KYC (2) BHIM

(3) Digi locker (4) Aarogya Setu

B gRo0ess Doy BALES 50801 BoBESERE MOFBFD 98BS JeSTHoR0 eodod

POSTHO (HEHS; 308D TS I
B
(1) KYC (2) BHIM
(3) & o5b (4) &85 o
- 17 (A)




% GS/OBAF/500

61. The Government of India initiative that helps users identify and remove malicious software and

botnets from their devices is
(1) Cyber Swachhta Kendra
(2) Indian Computer Emergency Response Team
(3) Cyber Surakshit Bharat

(4) National Cyber Crime Reporting Portal

S
HicE

{ £ 0

DIBFHTSOe0 SJo $05C0 Food ITVEEI0D FRBE 300ak0 §°eSIe50is 180D Fohoseds

RRFEADCE BTOS (PEL; TED
L(D) &b Ser Sogso |

(2) RoGANS Eo375ea8 285803 BRSy €380

(3) b 2058 g

(4) I35 2eb 35 0Foh ¢S

62. What does the Pradhan Mantri Jan Arogya Yojana (PMJAY) aim to achieve in India ?

(1) To reduce the number of health care workers

(2) To provide health insurance coverage to economically vulnerable populations

_ - - . ~
(3) To eliminate all private hospitals

(4) To improve public health education only

POSRFOE (B Soo@ e 8y Bress (PMIAY) Do FGomred OFSOI™ DERKOD ?

(1) &85 5055 $°6;5%00 Koy BRoEo

(2) RS0 awrHorT & e ey i 8588 eofoito

(3) & @33@5 5000 Fofiosto
(4) @erEg Dsso SPESIo JoEHBEHES0

63. Which Indian city is known as Space city ?
(1) Trivendrum (2) Bhopal
(3) Sriharikota (4) Bangalore

D GPEBOH SHOR WoSBY SKE0 e DO Ed 2
(1) SJoss (2) xS
(3) Brosie (4) BorES>

18
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64.

65.

66.

GS/OBAF/500

Which of the following is one of the largest public health programmes of free vaccines targeting
children and Pregnant women ?

(1) Rashtriya Swasthya Bima Yojana

(2) Universal Immunization Programme (UIP)

(3) Swachh Bharat Abhiyan

(4) Pradhan Mantri Jan Arogya Yojana

25000 32005 By} Jors oo S5 &0 dso oo, @B HerSy SEESTeS & Eod
EE

= e

[l

0e38° 2,53 DO 9

(1) oopom Jgigy DS Bressd

(2) F5y@5 BRI EE sTgEsvo (UIP)

(3) i) S @HATS

(4) B S0 e &by Bres

A car travels 150 km: in 3 hrs. The time it takes to travel 750 km more with the same speed is

(1) 5 hrs () 10hrs (3) 15 hrs (4) 20 hrs

25 T8 150 .20, 3 Hotod® HATE3oNss @b 508 750 &.20. e Irsns Harelotoets 3¢

POSUIOVOILL

~(2) 10 Hotows (3) 15 Hotoeo (4) 20 Kot

(1) 5 Koo

Find the next term in the following series.

RNQPOM, NPROMQ, PONMQR, OMPQRN,

(1) MPOQRN

(2) MQORNP

52 208 BAS BT B30 5L 08.

RNQPOM, NPROMQ, PONMQR, OMPQRN,

(1) MPOQRN

(2) MQORNP

19

(3) MQPONR

(3) MQPONR

(4) MRONQP
EyE
B

(4) MRONQP
(A)
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67. Statement : All dancers are artists. Some artists are painters. %5‘&3

Conclusion : 1. All artists are dancers. CREE
II. Some painters are dancers.

Then which one of the following is correct ?
(1) Iis true and II is false (2) I1is false and II is true
(3) Iand II both are true (4) I and II both are false
@RV 1 GyBg SPE000T° EFSE00. 508 5008 ETseEoen D(SESEoen. %%’L@
Sofoly: L @0t SEEties &S5, [

68.

69.

70.

II. 08 o008 DS Coe0 KyiEss oo,
@008 &3 308 TVE DO B 9
(1) 12850 SoB0%» II 5550 (2) TS50 508050 I 5850
(3) 1Z08ano I Sodir 850 (4) I550ai0 I ot eddsso

12 men can complete a work in 16 days. In how many days will 8 men complete the same work ?
(1) 18 (2) 24 (3) 20 4) 6

2.8 S 12 5008 pE0e0 16 Eered’ o0 I, B 1D 8 5008 Hibxwes K Seos® 378
BP9

(1) 18 (2) 24 (3) 20 4) 6

A father is twice old as his son. 8 years back their ages were in the ratio 8 : 3, then present ages

of father and son respectively are EIE]
S

(1) 46 years, 23 years (2) 36 years, 18 years iﬁ.ﬁ;

(3) 50 years, 25 years (4) 40 years, 20 years

&8 Bo(C SAR) S HVTOR S0y BeJox. 8 RSB0 (§0 370 SAby® @ 8 1 3 eondd
(533380 Bo(G So0akw KNIEIe SKKNGS ST Jod 9

(1) 46 So1, 23 Dol (2) 36 doil, 18 Soi
(3) 50 o1, 25 ol (4) 40 o1, 20 Soi

A dealer sells a notebook for ¥ 39 and gains as much in percentage as the cost price of the notebook,
then the cost price of notebook is

(1) T 28 2) 29 (3) T30 4) T 34

2.8 5350050 2.5 Feo0 9550 T 39 © iy tio Tryoe T 5y Toth SETIRN e Focodumd
@00B &8 S5 o £ 3o

(1) ¥ 28 (2) 29 (3) 30 4) X34
20 (A)
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71. A shopkeeper marks his goods 10% above cost-price, but allows 20% discount for cash. What is

his net loss percent ?

(1) 12% 2) 8% (3) 10% (4) No loss

2.5 C05°Eatrdd DO D (HEEID 30 £y 0 10% 595 SooBowrd. S°R) &8 59D 20%

BROD FICE. 000N BBV 53 AL SJ TG0 JoB 92

(1) 12% (2) 8% (3) 10% (4) sg80 8650

Directions :

[m]2d ]
=4

B

g
G
Hind x

The following questions (72 and 73) contain four sentences which in their present arrangement

lack coherence, connection and development. There is only one way of rearranging them to make

a coherent passage. Choose the correct arrangement from the alternatives given and mark your

answer as 1, 2, 3 or 4 in the answer sheet.

NGFsee

BoB %S (72 550000 73) 575 ekl T75es SDAAHB. T3 (508 Eins o Twged”

£ 53085 323550035 71, 50230655300 779, DS553500 570 B0, eI H300D), 2.8 E0508° 2eF55)6d

SIS0 BoRGOTS0NE BSOS DYEE000. Bos RPDODS E08008" HBEHE ISRED,
Do 957 1, 2, 3 800 4 2o IFFES HEred Hgosod.

72. a. He has two sisters and one brother.
b. He took responsibility for the family and made them all well settled.
c. His father died due to ill health.

d. Raju is the eldest son in the family.

(1) adbc (2) dbac (3) dachb (4) dcab

2. oS8 7O eof) BBHY) So0AD 2.8 FEB0E &S0,
b. e Heor ercssso 25009, ot JEDOT .
c. @8 Soid WG 5o I ST,

d. over & Stopod’ e S,

(1) adbe (2) dbac (3) dachb (4) dcab

21

[E2[E]

B

EXE
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73.

GS/OBAF/500

a. Among them, more than 60 are poisonous whereas forty plus are mildly poisonous and

about 180 are nonpoisonous.

BRI
P

b. The Indian cobra is one of the feared snakes in the world.
c. Snakes are reptiles.

d. More than 300 snake species are there in our country.

(1) cdab (2) abced (3) badc (4) dbac

a. De38° 6028 1 AYOBRD, 40 & e S5 DIIPOBI0SD 30000 180 $6% IS3re0so
S0,

b. E50508" @8 FoPEESIN F0e8” grEBAb TR E0 8k,
C. 000 HOHyres.
d. 505 %08 300 & 21 S erdoes G0,

(1) cdab (2) abcd (3) badc (4) dbac

74.

73

The population of a village increased to 44100 in year 2003 at the rate of 5% annum. What is the

population of the village in year 2001 ? ;Eé%ff'ﬂ.

Ok
(1) 39250 (2) 40200 3
(3) 38000 (4) 40000

OB 5% Bend e &0 e 2003 S0SETVZ 44100 S 2OMCE. xS 2001 So5EE0E"

€3 &80 23Pe® DO ?

(1) 39250 (2) 40200
(3) 38000 (4) 40000
Cost of 5 pens is equal to cost of 8 pencils. If cost of one pencil is X 5, then cost of 7 pens is
(1) X 56 (2) 35
(3) T45 (4) T 40
5 23500 O, 8 2R PO B57B0. 2.8 2S PEE0 T 5, @020 7 2o PBEo Jos 9 %%‘"?‘1
(1) T 56 ) 35 -
(3) X 45 | (4) T 40
22 (A)
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PART -B

GS/OBAF/500

GENERAL SCIENCE AND GENERAL MATHEMATICS

76. Which of the following is the correct sequence of ecological organization from smallest to largest ?

(1) Ecosystem — Population — Community — Organism — Biome

me
S

:

(2) Organism — Population — Community — Ecosystem — Biome

(3) Community — Organism — Population — Ecosystem — Biome
(4) Population — Community — Ecosystem — Organism — Biome
8080 736" DO VD B0 GO K Jov5HCEs BgSyy ook VTS (800 2

(1) Bo°cS58Er 5350 — e — Doz00 — 28 — Earsseso
S 5208

(2) & — gy — VOO — BOHSED By — BTHGeE0

(3) Bosvo — & — wTE — JOESCE Jg — ETHOE

(4) aer — Sos00 — DO5HSEs Sy — B — SrSe0

77. Which of the following is not a component of an ecosystem ?

(1) Producers (2) Consumers

(3) Decomposers (4) Evolution

808 T3 DB SOt BgSHS” eFMo S 9

(1) &50Ttheo (2) DABFHREBowo

(3) DJysseo (4) $BeTR00

78. Which of the following organisms is a primary producer ?

(1) Lion (2) Deer (3) Algae

208 908" DO PPEWE GBI Es 2

(1) oo (2) 0% (3) &3

23

(4) Eagle

4) ax
(A)



% GS/OBAF/500

79. What type of ecological pyramid can never be inverted ? EIEE

(1) Pyramid of Biomass

(2) Pyramid of Energy

(3) Pyramid of Numbers
(4) Pyramid of Productivity
D S50 BOgGEr PEREDS Ai5ye3s DE°S> H8E° wresBinn 9

(1) 2BFSTR D86

2) 3 S0

(3) Hoge &

(4) &@Dégé 2369050 ”E]%;{:j

s

80. Who introduced the concept of Biodiversity Hotspots ?

(1) Norman Myers

(2) E. O. Wilson
(3) Charles Darwin
(4) Aldo Leopold

SSDDGg 85I e50 FTBBE B> (DTS 2

(1) =55 Bocnby

(2) E. 0. 205

(4) &8 dBrIF*S

81. How many biodiversity hotspots are there globally (as of 2023) ?

(1) 15 2) 25 3) 36 4) 50

BRoUTsRoMT ) BEDIS feSryeien émmyans (2023 edd) ?

(1) 15 (2) 25 (3) 36 (4) 50
24 (A)
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82. What is the greatest cause of biodiversity loss ?

(1) Climate change

(2) Habitat destruction

(3) Invasive species

(4) Over hunting

£53D¢5 SaLRS BB S0 I0e3 2
(1) FrerS8es 35760y

(2) 770 G000

83.

84.

(3) GoorESoes e
(4) edr Jerceso

The Ramsar Convention is related to the conservation of

(1) Forests

(3) Marine ecosystems

(2) Wetlands

o755 B35S Ded HOTFEES KoRoHoNIH

(1) etde0
(3) DG BorgHITED D50

(4) Deserts

2) D8 Sow

(4) dBoen

The UN has declared 2021-2030 as the Decade for

(1) Wildlife Conservation

(3) Ecosystem Restoration

GS/OBAF/500

meE
Ghas

)

(2) Sustainable Development Goals

(4) Climate Change Mitigation

s85CPesgo0d 2021-2030 &57°eT)y & od GSTegone (35300l

(1) SIgrene dosges

(3) Sooger S5y BIEEd

8s.

(2) o3 B oFyes

(4) TEBBe STE BAOD

As of 2024, how many Biosphere Reserves are there in India ?

(1) 12 2) 18

2024 38, grEEB¥0E" Iy LIBTR005

1) 12 ) 18

25

oo
S

(3) 20 4) 25

62355@0 éD"’AOJD 2

(3) 20 ) 25

(A)
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86. The Gulf of Mannar Biosphere Reserve is known for EXE
o e
(1) Coral reefs (2) Grasslands Eg‘;

(3) Alpine forests (4) Desert ecosystems

87.

5078 1y xBrNakb desdy Je38 SRG Bodod ¢

(1) JnED Beyyeo (2) Ke goraooen

(3) ©Byw eEHeo (4) A0 BomgHsEs Sgge0

(]! [w]
What is the People’s Biodiversity Register (PBR) ? g:‘iﬂ

(1) Alist of protected forest areas

(2) Arecord of biodiversity at the local level |

88.

(3) A government record of endangered species
(4) Aregistry for wildlife conservation NGO’s
296y BTG50y 886 (PBR) woss D2oe3 o

(1) 58 et Erocre o

(2) “LAE LonS Booaly 056

(3) ©oBBVTES, oo (g0 8575

(4) Ss5Eree Sosge NGOo §50 023

The Nagoya Protocol, related to biodiversity conservation, is associated with

(1) Climate Change Mitigation

(2) Genetic Resources and Benefit Sharing '

(3) Wildlife Protection

(4) Sustainable Fisheries

my
]

S5 SOTEEID 302000 SFAIT (eSS &8 808 T3 Fe36° $29ESE &od 2
(1) o388 35780y Bhod

(2) esRog SBEoen So0BA (PABTET® 2;"1‘@“0353350

(3) S¥gEreve SEen
4) ?36?_0?6 Q0Byg DO

26 A
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89. The permissible noise level in residential areas during the daytime in India is

(1) 35dB (2) 45 dB (3) 55dB (4) 75 dB

PESBFS” HedToed I (oo’ e:5050BOBEAS Fg) P 0 2

(1) 35dB (2) 45 dB (3) 55dB (4) 75 dB

90. The National Air Quality Index (NAQI) in India measures which key pollutants ?
(1) Only Sulfur Dioxide (SO,) and Nitrogen Oxides (NO,)

(2) All greenhouse gases

(3) PM, 5, PM,, CO, SO,, NO,, O,, and NH,

(4) Only Carbon Dioxide (CO,)
eSSBS erBok Takx Teagd 1S (NAQI) O Sof seviy 0500 To0y00 ?
(1) %08 Sa$H& (S0,) 50059 eSS eBythy (NO,) SR

2) ey (S 5 Trafoded

(3) PM, , PM,;, CO, SO,, NO,, O, 50005 NH; |

(4) 58S GAFEHE (CO,) 3PS

91. What are transgenic organisms ?

(1) Natural plants and animals

(2) Organisms whose DNA has been modified with genes from another species
(3) Organisms that can survive in extreme climates

(4) Only bacteria

es:805 50y B0 05 A3 2

(1) J57es FooE)o [5o0CK0 230BoYHLL

(2) o5 e® 305008 DNARS50050GS B:deo
3) dE TTHETS” B0tk BHeo
(4) ersi00Nr ST

27
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92. The Paris Agreement aims to limit global temperature rise to
£y 1°g (2) 1.5°C (3) 3°C (4) 5°C
FOR 9080 (P00 ELIS DEMHESEO O @gwé SO0 IAITO OFOM 26pK08 2 %Ef
(1) 1°C (2} 1.5°C (3) 3°C (4) 5°C
93. Acid rain has a pH lower than
(1) 3.0 (2} 3.6 (3) 7.0 (4) 9.5
es330 580 pH Ded & 503 SEI™ dotaod.
(1) 3.0 (2) 5.6 (3) 7.0 4) 95
94. The largest ozone hole is observed over
(1) Africa (2) Australia
(3) Antarctica (4) India gg{g
@8 2 LES oo D @roBod’ NSoSwdod 2 E]:&?:;
(1) esps (2) eﬁ@@o:if
(3) eoerdeis (4) grEs3%0
95. How does ocean acidification affect marine organisms ?

96.

(1) Strengthens coral reefs

(2) Reduces shell formation in marine species

(3) Increases fish populations

(4) Reduces water temperature

R0 3B D80S EHOK0 IT° BRSO T3od 2
(1) JnED Bepyodo aaemdsb_;go&

(2) 3505 rsoed’® 2 Ddzc‘éw@g SH3000 |

(3) I BTgTEI VoIS
(4) eI ARS8 SA

The Montreal Protocol (1987) is related to

(1) Ozone layer protection (2) Carbon trading
(3) Rainforest conservation (4) Desertification control

SroEdond @eS’sedS (1987) 8 208 338" B $50230H0SA ?

(1) &8°S 26 558 (2) S°GS FgFso

(3) ScSeago HOTEES (4) dzb55e3 davoes
28

(A)
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7.

98.

99.

Which was the first major international agreement to address climate change ? :i%%
(1) Paris Agreement =
(2) Kyoto Protocol

(3) Montreal Protocol

(4) UN Framework Convention on Climate Change (UNFCCC)

TTHOE? STENOR0 SOJOOBEIS AYE I206e3 (PGS @oééoagm)écﬁo 20 9
(1) 85 essyos0

(2) F5e® @eSsS

(3) SrordaHd eSS

(4) s 57692 UN (pa056), 83595 (UNFCCC)

Figrnint 5]

The Bonn Challenge aims to '_@15"3:

(1) Reduce CO, emissions

(2) Restore degraded and deforested land

(3) Promote industrialization

(4) Encourage coal usage

ed P8O B, RPN ©¥50 JAoe3«?
(1) CO,amorodo Bhotko

'(2) e300 000 €62 DETYOB KB GO HBLBoSEO
(@ R0SBOER0 (U DY Omee0

4) ESOK/% Z)i)cﬁ?ﬁ‘”i)& @%‘%koécﬁo

The species that show a crucial role in maintaining the structure, function and biodiversity ofits
ecosystem are :E];%%
(1) Keystone Species (2) Endemic Species e
(3) Foundation Species (4) Flagship Species

D BogSGEs Sy ook, Aoyeso, 5B 5300 SS5FVGGY AgArosces” o8
D5 PN eretoen

(1) 3RS eddoed (2) LY erdomd

(3) DI erSoen (4) eSS erdoen
29 (A)
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100. Which human activity contributes most to the global warming ? ELE
(1) Wind energy production arﬁg

(2) Solar power production

(3) Planting trees

(4) Deforestation and burning of fossil fuels
o0 T Ogohs D S50 5 OgSe o0 DS B S SETa0 9
(1) 955 %8 &9

(2) FE i85S ey

(3) B0 Freacio

(4) @t DETEP $oBAT0 e ROGTT LS50

101. Which program aims to provide clean cooking fuel to low-income households in India ? g?’%

(1) Pradhan Mantri Awas Yojana e

(2) National Electric Mobility Mission

(3) Pradhan Mantri Ujjwala Yojana

ational Cnergy Liicicncy Acton Plan

PESRF0S BE) ST°A0 SN0 DEIDOD $0L) FOET ) WOROWEO OF;oN™ DEREIT)

SE5E30 98 9

(1) Krs S00@ e GBoresd

(2) erdaH DeSogd JeDFOB oS

(3) PP 300@® ez ABresS

@) D00 3068 gy STTROEs (ETYS

102. “Black Foot” disease in human beings is caused due to use of water contaminated with

(1) Mercury (2) Cadmium

(3) Silver (4) Arsenic

PS8 Sy Fre” T30 O 5eobBR0N eI E3ABFRoBEo $g 5308

(1) &S0 (2) seyamo

—
(3) 308 (4) &By5
[=][8]

103. The main constituents of Bio-gas or Gobar gas are ‘@‘E;&%

(1) Methane (2) CO, and Hydrogen

(3) Nitrogen and Hydrogen Sulphide (4) All of the above

AT B Merb gD ooy, FTS grrres

(1) 88 (2) CO, 58050 e

(3) TS BB TEeS $BE (4) 25
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104. Match the following : :%E;%
Type of litter Approximate time to degenerate the litter Bl
A. Paper I. 1year
B. Woolen items II. 10 —30 days
C. Tin, Aluminum and other metal items III. 1million years
D. Plastic bags IV. 100 — 500 years
(1) A-LLB-ILC-1II, D-1IV
2) A-IIILB-L,C-1V,D-1I
3) A-ILB-LC-1V,D-1II
4 A-IL,B-1L,C-L,D-1V
s
208 T30 $0Fe0d. s
3 8% D80 $r3oHEAHTRDS BosTEs BKocke
A, 226 L. 1 So38y50
B. &y S90e0 II. 10 — 30 &eren
C. €33, earsudabo $o00bsass &' skgpes TI1L 1 2DAHS Sossoren

D. %5 Soowo IV. 100 — 500 So%¢y0°en
() A-LB-I,C-1I,D-1V
(2) A-IILB-L,C-1V,D-1I

3) A-1I,B-LC-1V,D-1II

105.

4 A-ILB-IIL,C-L D=1V

Which marine organisms are at risk from ocean acidification due to their dependence on calcium
carbonate to form shells and skeletons ?

(1) Snails (2) Sea urchins

(3) Oysters (4) All of the above

15025y 308050 esRssorscren JEEerdS SYAN0 ST TV LSRN0 S0k BBE eESE
37508 &y 830068 e SDes 9 g?:%?
(1) S8eo (2) S50 By B
(3) rogeo (4) 2% D85
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106. What is the role of the United Nations Environmental Programme (UNEP) in the context of ozone

107.

depletion ? EleE
e

(1) They focus solely on reducing carbon emissions
(2) They develop technologies to artificially replace the ozone layer

(3) They promote the use of ozone-depleting chemicals

(4) They monitor and implement international agreements like the Montreal Protocol

285 §eod 106565)08° oE5TegHRD $Ergses SgESr0 (UNEP) g D0e3 9
(1) T8 D &TTO8 BROBEOD BP0 GRREEEd

(2) T L8 D68 §OSoor P TAOES FEBESLR ©NHY I
(3) T 55 {303 SFAHTO TESD) PSR

(4) T SFoEIAHS eSS H0e3 SOBTBAD 2dOTeR SERETE> $o0050 SBoaVIED

Match the following diseases and their modes of transmission. Q’é’*@
A. Cholera I. Spread through blood or body fluids i
B. Hepatitis A II. Vector-borne transmission, typically through mosquito bite
C. Influenza III. Transmission through food and water
D. Malaria IV. Airborne transmission, typically through droplets from cough

or sneeze

() A-IILB-L,C-1V,D-1I
2 A-1V,B-1,C-1II,D-1I
3) A-1V,B-1ILC-1,D -1
(4) A-TILB-1V,C-1,D—1II

EZE]

808 Tgtioen 3080k T3 IS BB $6Fe0d. i
A. Soor I. %0 8o 888 (e 00 g FotoEod
B. 08630 A 1. 355 070 SoEA0T ETB0, FFEMT &' TN 0
C. 339 doer® ML es55%50 SoB00 ed T0° HoEA00
D. %8005 IV. 19 G0 KoER00D RS0, FPEPEEaoTT (ify B doday 8008 3

8o oy Ney

(1) A-IIILB-LC-1V,D-1I

(2) A—1V,B-1 C-1II,D—1II
(3) A—IV,B-1I,C-II,D -1
(4) A-TILB-1V,C—1,D—1I
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108. Which of the following is not a renewable energy source in India ?
(1) Solar Energy (2) Nuclear Energy (3) Hydro-power (4) Wind Energy

800 T8 DO PEBBFOS” VTS oS $HE> G 2

(1) o4s 2) oross )3) zow (4) 955 %8
109. Which of the following is not a type of biodiversity ?
(1) Genetic biodiversity (2) Population biodiversity
(3) Species biodiversity (4) Ecosystem biodiversity
300 T3 8 BSBIG50 S 9
(1) esog B53D50 (2) e £532¢50
(3) ereoo BSBVE50 (4) Do°558r B55 BSINE5O
(]2 [x]
110. Which is the lar;_gest solar park in India by installed capacity ? :ﬁ?
(1) Bhadla Solar Park, Rajasthan
) Rewa Solar Park, Madhya Pradesh
(3) Pavagada Solar Park, Karnataka
(4) Kurnool Ultra Mega Solar Park, Andhra Pradesh
POSBFE b J6 xS 76,08 92
(1) g Ferd F6), ooasgd
(2) 3= 23587"5 j"gzj, 253@55@5%
(3) I P 76, sess
4) §C55°&®Q SN o Aerd 3“52!, G:SOLC,S@ES% E}qyg
111. What is the primary objective of the PM-KUSUM scheme ? [<lcas”
(1) Promote urban solar power (2) Provide subsidies for solar irrigation pumps
(3) Build large hydropower dams (4) Keduce dependence on wind energy
PM-KUSUM 5¢550 GBoo) (a8 %50 d00e3 2
(1) 36380 S DSog8e%0 PPBGE0 (2) 6 3Tt Boe®H $Dbed wodoso
(3) 25 eso DesogS LB DBJEBEO (@) 250 53 2 ST Oty SO0
112. Where was India’s first waste-to-energy plant established ?
(1) Mumbai (2) Delhi
(3) Hyderabad (4) Bengaluru o
ks
ETOBB508" Bo06gR30065e3 S5re $I0G 8 &y T Foes M Fhosedod ? i
(1) %2008 (2) &9
3) TEoewrd (4) BoKETSo
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113. What is the goal of PM Surya Ghar Yojana ? Efa’@
(1) Promote biofuels s
(2) Install rooftop solar panels in urban areas
) Electrity villages

(4) Expand wind energy

BESB00® JTC5 596 GBoresd oo Jaoed 2

(1) &5 gogTress @%Qiroé&o

(2) Bee0 (@oTrE’ PESY 2 TG FOTOR IC°EN VKo
") [0t Dot Soie

(4) 555 %8 B0

114. Acid rain is caused by the reaction of water with Eﬁg:»;f
(1) Nitrogen Oxides (NO,) and Sulfur Dioxide (SO,)
(2) Carbon Dioxide (W
(3) Ozone (O,) and Helium (He)

(4) Chlorine (Cl) and Methane (CH,)

€533 580 338 Ve BBy $05 BOFH8 2
(1) 35S <8y (NO,) 50002 oD GaSys (S0,) |
@ so0 EQTE) (CO,) 50000 S (0)

(3) &85 (0y) 55005 S9a%o (He)
(4) 05 (Cl) $0da%0 &S (CHY)

115. Which of the following microbes is commonly used in oil spill cleanup ?
(1) E.coli @seudomonas putida
(3) Saccharomyces cerevisiae (4) Rhizobium [E‘;‘Ei
550080 D00 FEHEBEE TGO ESBIRY SrgEdHeo O 2 B
(1) 8. 8% (2) JrEITTD DI
(3) FSEB0D DTV (4) S awo

116. Which state is the largest producer of Copper in India ?

(1) Rajasthan (2) Andhra Pradesh
(3) Madhya Pradesn (4) Telangana
GrOB0F0S” iSO O ey IV PO IO ?

(1) oesrd (2) esoBRRE

(3) ;33455@63% (4) Boorres
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117. The sum of squares of two consecutive even numbers is number 452. The numbers are

(1) 10and 12 (2) 12 and 14

oo 6% 330 DoPse Y Foogaoo Mogy 452 @SS, &3 Koo

(1) 1050005012 (2) 12.5:80%0 14

(3) 14 and 16

(3) 14 505050 16

(4) 16and 18

(4) 16 S06a%> 18

o
TR

o
Lo,

118. Out of two concentric circles if the radius of outer circle is 5 cm and its chord of 8 cm is a tangent

to inner circle, the radius of inner circle is

(H 2 ) 3

3o D5 So@a% ;”Jq)a;ge)e'is ey S5y ?53"%0 5 cm 3080500 eiTg $yES0 oo, 8 cm ey o

B)BB2BE $)5)09 @0 GOBE K0 TGS

(1) 2 2) 3

cm.
(3) 4 (CR
6.5,
(3) 4 “4) 5

119. If a wheel makes 140 revolutions in covering a distance of 44 km, then the radius of the wheel is

approximately.

(I) 48 m (2) 50 m

(3) 35m

(4) 26 m

2.5 3550 140 © 20Eoens’ 44 8.2.00 BOAS (50 Baskh, TgRrs BOSFHIP

(1) 48m (2) 50 m

(3) 35m

(4) 26m

120. The pictorial representation of data in the form of vertical or horizontal rectangles is called a

(1) Histogram

(3) Bar Graph

(2) Pie diagram
(4) Frequency polygon

§Q) Szrozro DB SES 3G T8 §8e HY SsovES00T DS A

(1) FrS Do
(3) &b %o

121. The Median of data values of n observations is

(2) 2 Do
(4) P83y eT050e2

if n is odd.

n-3
i -

=l
s

N 2 Doy 00881, N EBOT® HOJOS Jewse 0G0
(1 2t @) &5t
2 \ 2

35

e90L3080.

4 Dt3
()2

4 Bt3
()2

2

BIEE
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122

123.

124.

A small unit of a factory has 5 employees : consisting of a supervisor and four labourers. The workers
earn a salary of Rs. 5,000 per month each while the supervisor gets Rs. 15,000 per month. Then the

mean, median and mode of the salaries is , and respectively. gg’%
(1) 7,000, 2,000 and 5,000 (2) 6,000, 5,000 and 5,000 Bl
(3) 7,000, 5,000 and 5,000 (4) 5.000, 5,000 and 3,000

000D S 50 &y 2.8 K0P, e85 JrHBed, Seortd S0y, 5°5;%08 e.5H08 J0H
5,000 5500 $o00% Bris3ebH 30 15,000 S50 eond, dore BN, Bogio S0k
ePTOFEO

(1) 7,000, 2,000 50805 5,000 (2) 6,000, 5,000 $08a%0 5,000

(3) 7,000, 5,000 506a50 5,000 (4) 5,000, 5,000 508a30 3,000

The relationship between the three measures of central tendency is %F&E
(1) Median = Mode + Mean (2) Median = Mode + 2 Mean B
(3) 2 Median = Mode + 2 Mean (4) 3 Median = Mode + 2 Mean

507°¢5 So Q0K (B8 S0 © 306 $00G0
(1) Sogghdo = ertTo¥so + dex (2) Soggngo = eroFso + 2 Jnen

(3) 2 Sogsgfiso = erirodiso + 2 Hifex (4) 3 Sogsgfidso = erirodo + 2 e

A wall length of 48 m, 0.4 m thick and 5 m high is constructed with the bricks each of dimensions
25 cm % 16 em x 10 em. If mortar occupies 1/10™ of the volume of the wall, then how many bricks

are used in constructing the wall ?

(1) 28000 (2) 21600 (3) 24500 (4) 30500

48 B, s, 0.4 D, 55050 5006550 5 Do. A8y Ko 2.8 76 360508 JB0iedod. 18 38 Sod
25205, x 16 2000, x 10 20205576 5035 20578308 1/10 3 S0 IrgE esEDoods, & fes
Q07£208" EIBPACDD LT S0y A0 2

(1) 28000 (2) 21600 (3) 24500 (4) 30500

125. The ratio of the areas of two similar triangles is 49 : 121. What is the ratio of their perimeters ?
(1) 7:11 2) 21: & (3) 49:121 (4) 14:33 L
S0t BT (HEOE IT°T°§O D38 49 : 121 @ood T7ed oty Fode AZd Jod 9 E;l:ﬁ;
(1) 7:11 (2) 21:22 (3) 49: 121 (4) 14:33
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126.

127.

128.

129.

The value of (5 + 2\/8)3 + (5 - 2«/3)3 is gj’&g

(1) 890 (2) 970 (3) 1050 (4) 1250

(5+2\/8)3 +(5—2\/€)3 Do

(1) 890 (2) 970 (3) 1050 (4) 1250

What will be the area of the largest square that can be cut out of a circle of radius 10 cm ? %;‘p
DR

(1) 100 cm? (2) 200 cm? (3) 300 cm? (4) 400 cm?

10 20.20. T5g0 Mo 353500 $008 @G SBEE0 SO0 B1S & IR 37050 oG 2

(1) 100 20.20.2 (2) 200 20.2.2 (3) 300 20.2.2 (4) 400 20.50.2

In AABC, AD is angular bisector of £A, meeting the side BC at D. If BD = 8 cm and BC = 12 c¢m,

then AB : AC is

(1) 2:1 (2) 1:2 (3 2:3 4) 3:2

AABC & £A G300%), 38 §'en 535005006835 B9 AD de50e3 gheso BC D D 5¢5 podoioso. BD =8 0.2,

5080050 BC = 12 20.50. e9c005 AB.: AC

(1) 2:1 2) 1:2 (3)2:3 4) 3:2

1 1

(1000)3 x (0.04)%> —(0.027)} =?

(1 1 2) 0.9 (3) 0 4) 1.7

1 1

(1000)3 x (0.04)? —(0.027)} =2

(1 1 (2) 0.9 (3) 0 4) 1.7
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130. In the figure given below, / || m and p || . What is the value of x ? %%ff_i}_
. ]
iy o o
< > l
(3x +4)°
>m
x° \/
(1) 54° (2) 42° (3) 44° (4) 45°
BoB $653008° I || m 508050 p || q &9 3952808, X JesS Jo 2 E%’E
E“}

p

[,

(1) 54° (2) 42° (3) 44° (4) 45°

131. The length of a Rectangle is increased by 60%. By what percent should its breadth be decreased so as
to maintain same area ?

(1) 37.5 (2) 42.5 (3) 25 (4) 38

2.5 B SN0 6D 60% Doisedod. T FTeses” 5ty B0 &0l e JoB T80
ShoTd 2

(1) 37.5 (2) 42.5 (3) 25 4) 38

132. Which of the following measures of central tendency can be calculated graphically ?

(1) Mean (2) Median only

(3) Mode only (4) Median and Mode

o8 A" D SoBaH T Fosso (T BEBE’ Kedossity 2 %‘:‘%
(1) dnex (2) Boggreso S

(3) ersTEO ST (4) BoggHeo 50BA%0 erPTuTEe
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133. In AABC, MN || BC, the area quadrilateral MBCN = 130 sq. cm. If AN : NC =4 : 5 then the area of

134.

AMAN is sq. cm. B
A
M N
B C
(1) 32 (2) 45 (3) 36 4) 39

AABC & MN || BC, MBCN B8y g0 130 $.20.20. AN : NC =4 : 5 AMAN es0005 SF°050
A B

B C

(1) 32 (2) 45 3) 36 4) 39

If the numerator of fraction is increased by ‘5” and denominator is increased by ‘2’ it becomes equal to

% and if the numerator of the fraction is decreased by 1’ and denominator decreased by 5°, it becomes

equal to 1. Then the fraction is

11 8 2 7
b == 2) = 3) = 4) —
0= @ 3 3 2 @
2.8 93)500 G308 03 57 £ $o8e%0 oS 2’ 5018 &5 B350 % £ 38050, 98 )0 B0y
EE
@50 500G ‘17 B I, 80 00¢ ‘57 BVIBI &8 ‘17 e, ©a & HidySo i
11 8 2 7
) — 2) — 3) = 4) —
M = @) = o 5 ) =
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135.

136.

137.

GS/OBAF/500

If the length of the shadow of tower is equal to height of tower at a point of time, what is the angle of
EE[E]
elevation of the sun at that time ? [

(1) 45° (2) 60° (3) 30° (4) 90°

£ ST 9500508 2.5 €356 Boot, Dés TP TR IV BETH0 000, € B0HoS BIEg e

e300 Jos 2
(1) 45° (2) 60° (3) 30° (4) 90°
L=l
=
PB+B+P+43+53+63+7P=2 Ol [

(1) 292 (2) 28° (3) 8§ 4) 283

PB+23+33+43+53+68+73=2

(1) 292 (2) 282 3) 8 (4) 283

The mean of 12 observations was calculated as 60. It was detected on rechecking that value of 40 was

mistakenly copied as 28. What is the correct mean ?

(1) 61 2) 63 (3) 64 4) 72

12 $88emromre St 60 m Ke3oSGod. TP DSdBes Iom el $83eTroso 40 eaoeorr
EEE
Bl g s

rE5re20% 28 T ST D362 BOVOB. €000 WO W1fe> Do 2 B

(1) 61 2) 63 (3) 64 @) 72

40 (A)
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138. Atriangle ABC is drawn to circumscribe a circle of radius 4 cm such that the segments BD and DC

into which BC is divided by the point of contact D are lengths 8 cm and 6 cm respectively. Then

lengths of sides AB and AC are

A

Ce~6cm > D« 8cm —»B

(1) 10cm, 12 cm
(3) 15cm, 13 cm

respectively.

(2) 14 cm, 10 cm
(4) 12cm, 15cm

EiE

(&3

o

©gieso ABC & 420.0. 5o o 5)5350 eossgPosedod. 3y Dot D, BC gerdy Sotk
Syrpogmeor BD =8 20.20., DC'= 6 20.20. e 245220008, 000 AB 5508050 AC ghere Jesen

B

Ce— 6cm > D« 8cm —»B

(1) 10 20.20., 12 20.5.
(3) 150.20., 13 20.5.

(2) 14 20.20., 10 20.20.
(4) 122020, 15 20.50.

139. Which of the following rational number is expressible as a terminating decimal ?

111 351 2029 797
1} == 2) . oo 3y S 4) 2
M) 165 ()75 S &) 5
200 75" O exstedo Sogpgiy eosHIaly SToTor SEENSSNEs0 ?

111 351 2029 797
) — oy 2% .= 4) —
3 Ry & = B 5oe & T

41
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140.

141.

142.

143.

GS/OBAF/500

It is not possible to construct a triangle with the measurements of lengths of its sides as
(1) 4cm, Scmand 7 cm gg“ﬁl
(2) 3cm,5cmand 5 cm ek

(3) 3cm,3 cmand 6 cm

(4) 4cm, 5 cmand 8 cm

&8 (D505 Boexs Dor &0G el EHO Soden
(1) 420.55., 5 20.20. $500a%3.7 20.20.

(2) 320.55., 5 20.20. $08a%'5 20.20.

(3) 3 20.20., 3 20.0. 300cX 6 20.20.

(4) 4320.55., 5 20.20. 558050 8 0.2

The sum of three numbers is 104. The ratio of the first to the second is 3 : 4 and the ratio of second to

the third is 2 : 3. What is the second number ?

(1) 38 (2) 32 (3) 48 4) 26

S0T°¢E0 Doy I080 104 3002583 508050 Bodds Sogg® 8 3:4 S0B0%0 B 00ATY DTS

Hogge 2 1 3 A e90005 Todesd B0y ~od ? Eﬂﬁ%

(1) 38 (2) 32 (3) 48 (4) 26 Bl

If 35 is removed from the data : 30, 34, 35, 36, 37, 38, 39, 40 ; then the median is increased by

1) 2 2) 1.5 3)1 4) 0.5

&eroto 30, 34, 35, 36, 37, 38,39, 40 8° 35 50 SeNods, Ha¢ylisod” HEMHE0

(1) 2 (2) L5 3) 1 4) 0.5

The wheel of a motor cycle is of radius 35 cm. The number of revolutions per minute has to the wheel
=] [s]

make so as to keep a speed of 66 kmv/hr will be -'-Sc':‘.%i
[Ela

(1) 100 (2) 300 (3) 500 (4) 1000

35 20.20. 5O ey ITerB PAS S(Eo 66 8.2, /K0e> 58 Yoo ESThomrecd] e HE0 Do

Qfo‘;' (BI0ETR0 5055"5@ ?

(1) 100 (2) 300 (3) 500 (4) 1000

42 A)



144. In the given figure, £ OBC = 45°and £ OAC = 30°. Then the value of the Z AOB is

(1) 75°

(2) 30°

(3) 60°

GS/OBAF/500

(4) 90°

NS $€35308° £ OBC =45° 50805 £ OAC = 30°, &2000%5 £ AOB deoss

(1) 75°

(2) 30°

(3) 60°

145. The remainder when (528)>273 + 7 is divided by 529 is

(1) 5

Q) 6

(3) 4

(528)7 +7 %5 529 3 PRSI S0y T Jods 9

(1) 5

2) 6

43

Q) 4

4) 90°

“4 3

4 3

EE
FE

A
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146.

147.

148.

ABC is an equilateral triangle whose side is equal to ‘a’ units. On side BC extended both ways, two
points P and Q are taken, such that BP = CQ = a units, and AP, AQ are joined. Then

PA= units. EE
Tk
(1) ?a ) 3a 3) V2a @) 3a
ABC 2.8 55050 (©g0eso. T g0eo reéd ‘@’ alrrden. BP = CQ = a alhrrdeay erodey §0eso
BC &0 aéa?_@@" P 50850 Q Hoodess Pahosendod. AP, AQ oo 505 PA= SISLLAIAE
5 a ORI
(1) Eke (2) 3a (3) V2a (4) v3a

The hour hand of a clock is 8 cm long. The area swept by it between 8.00 am and 11.00 am is

(1) 2 mem? (2) 8 mcm? (3) 12 mcm? (4) 16 mcm?

25 KAArE08® Do By D 8 20.00. @b 8.00 am S08cxko 11.00 am ¥5005008" DG)5E0

?_r'a’“@ago

(1) 2 mS.20.0. (2) 8 mS.o.. (3) 12 mS.20.0. (4) 16 m35.20.0.

Three persons A, B and C are playing a game by standing on a circle of radius 5 m drawn in a park.

A throws a ball to B, B to C, C to A. If the distance between A to B and B to Cis 6 m each, what is

=l s]

. =iks

the distance between A and C ? [W] 2
(1) 9.6 m (2) 82m (3) 103 m 4) 11.5m

A, B:00%0 C &35 50015t S550e0 a5 5 Q0. o8 A 5580 D Doad .5 et estiodoTyBo.

A 2.5 2092 B %, B es 2082 C £, € &5 2208 A % I0soseto. A, B o S0¢8g 508050 B, C o 3555

[E2[s]
5350 6 . @0 A, C o Sty S350 Jod 2 TheT

(1) 9.6 2. (2) 8.2 . (3) 10.3 2. 4) 11.5 0.
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149. The following Pie chart shows the expenditure of a country on various sports during a particular year.
Study the graph and answer the question.

If the total amount spent on cricket and hockey together ¥ 35,00,000, the total amount spent

on sports is __Eig“'El
By T
CREE:

i |

N

. v

(‘6“06’5 ‘;}o %thers
‘200‘“?’\\
(1) ¥ 72,00,000 (2) ¥ 85,00,000 (3) ¥ 70,00,000 (4) ¥ 68,00,000

$oB 358 Sar Do, 2.8 B0 &8 JoIS oS’ A Eese D iy B DSoen FHRGTOKR. (FHH
SBBOOD (S DIPETBI> Y.

(8865 308000 548 @ 2 5D B T30 969 T 35,00,000, Joo ey Ecte D 23 95y

OL30
B
g3
i | o
?SD;‘-D o 6\0
) e
o
(1) ¥72,00,000 (2) X 85,00,000 (3) X 70,00,000 (4) X 68,00,000
Do
150. The Median of an equilateral triangle is 8v/3 cm. What is the area of the triangle ? ‘E}M:ﬁ%
(1) 72+/3cm? (2) 64+/3cm? (3) 3243 cm? (4) 7643 cm?
2.5 S50 (@ebeo doo%), o6y Sp e 843 em. & @gbe JFego o 2
(1) 7243 cm? (2) 643cm? (3) 324/3cm? (4) 7643 cm?
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SPACE FOR ROUGH WORK
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